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1. C,H,NO 3Uga a1 1§ HE-eh AR (A), Br, 3R KOH % |19 WA fohy I W
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(D) STl 8 311 &R H foret BT 8 1 (A), (B), (C) 3R (D) s &= ferfiae 2

2. 99 sifeearse Fmfelaa stfirrdent & arer siifsran wear @ 41 fFfifa scael = fafey
CIEVE

(i) @ NaOH i 3ufefa i CH,CHO
(i) g 3T i Iuteata § H,N-OH
(iii) <o Tfireten 1x2=2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(i1)
(iii)

(iv)

(v)
(vi)

This question paper contains 12 questions. All questions are

compulsory.
This question paper is divided into three Sections — Section A, B and C.

Section - A Q. Nos. 1 to 3 are very short answer type questions

carrying 2 marks each.

Section - B Q. Nos. 4 to 11 are short answer type questions carrying 3

marks each.
Section - C Q. No. 12 is case based question carrying 5§ marks.

Use of log tables and calculators is NOT allowed.

SECTION - A

1. An Organic compound (A) with molecular formula C;H,NO on heating

with Br, and KOH forms a compound (B). Compound (B) on heating with

CHCI4 and alcoholic KOH produces a foul smelling compound (C) and on

reacting with C;H,SO,Cl forms a compound (D) which is soluble in alkali.
Write the structures of (A), (B), (C) and (D). 2

2.  Write the products formed when benzaldehyde reacts with the following

reagents (Any two) :

@

CH4CHO in presence of dilute NaOH

(i) H,N-OH in presence of weak acid

(111) Tollen’s reagent 1x2=2

3.  The conductivity of 0.001M acetic acid is 7.8 x 107 S ecm™!. Calculate its
degree of dissociation if A°m for acetic acid is 390 S cm?2 mol L. 2

LI
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Mn3*/Mn2* 3 % feTu E° &1 0 §iga €10 #1811 g ? 1x3=3

() 3 e @ e feu T 3t & SIe (Fet) | | B |1 3T ek e
BRTT ?
F-CH,~COOH &« CH,—COOH
(i) Trferfaa st 1 37 TR & Sed she H AT HIfT ;
CH,CH,0H, CH,~CHO, CH,~COOH
(i) sSafceegEs 3 WHREHE 4 fodg o0 & fou wa warfs Tdhem

@ | 1x3=3
AUl
(@) (1) o ArfireRtett Frrst 3tRrfsma disrar & & ?
wHifeegze I TuAH
(i) i iyt w1 A F1 R ?
(i) VIS o FHfihIeSIA 1 T SA13T | 1x3=3
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@

(1)
(iii)

(<)

I[g Terties UHAT o o % fore Ufeshet Sotmsel o1 ST 3T9ee U 3r=at fafy
TR

el reer-shrred srfrfsman Tdi ear ® |

Tt — NH,, T8 searg-Rrt Sfaemm sTiufransti § o/p frcees gran & fie off

Ufefia & AEdRTor & m-TTsgRfel Y el AET S R | 1x3=3
1 Bl & 5
() WM H CH,MgBr % @1 3Tufha i % qeeq. So-srvefed foma
ST e ?
(i) T B TIATS o TR 3R 317 o W1 3freha foparm ST | 2
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SECTION - B
4. (1) Why are melting points of transition metals high ?
(i1) Why the transition metals generally form coloured compounds ?

(iii) Why E° value for Mn3*/Mn?2" couple is highly positive ? 1x3=3

5. (a) (1) Which acid of the following pair would you expect to be stronger ?
F—-CH,—COOH or CH;—COOH
(11) Arrange the following compounds in increasing order of their
boiling points :
CH,CH,0OH, CH;—CHO, CH;—COOH
(i11) Give simple chemical test to distinguish between Benzaldehyde
and Acetophenone. 1x3=3

OR
(b) (@) Which will undergo faster nucleophilic addition reaction ?
Acetaldehyde or Propanone
(i1) What is the composition of Fehling’s reagent ?
(111) Draw structure of the semicarbazone of Ethanal. 1x3=3

6. Give reasons :

(1) Ammonolysis of alkyl halides is not a good method to prepare pure
primary amines.

(i1) Aniline does not give Friedel-Crafts reaction.
(iii)) Although —NH, group is o/p directing in electrophilic substitution

reactions, yet aniline on nitration gives good yield of m-nitroaniline.

1x3=3
7. (a) What happens when
(i) Propanone is treated with CH;MgBr and then hydrolysed ?
(11) Ethanal is treated with excess ethanol and acid ?
(i11) Methanal undergoes Cannizzaro reaction ? 1x3=3

OR

5 %E;E P.T.O.



(@) frfafea stfirfsranati & qea 3am fafau :
(i) 2CH,COCI+ (CH,),Cd -

Zn (Hg) /&1g HC!
(i) CH,CH,CHO n (He) ,

i) ( )—COONa + NaOH-C29, 1x3=3

8. (&) fmfeifga & wea siw hifve

() TRy T SrEEiN

(i) gafeeft |t 3 gereft @t

(iii) wE3NTTH HIATSS TH IRVH HIISS 1x3=3
A

(@) @) Feferiad wel i afeitd hisr :

() Sferfawa
(i) ®hed

D) ¥& AgNO, forera 1 KI forere & fietrn Siar 2 @ 560 SATefRa Jid =i
T el & 2 3

9.  HeRHU ATl S TRATRG ST | Zn, Cd 3R Hg EshAvT 91qy¢ FIT 981 hgawd! & ¢
RO GTGIT 1 TR TR W aiEdAefietal p-sclieh dwal shi SRR
a3t § aReardsfierdr | fhe yhr i 2 2 3

10. (a) AN Y FHGT T ST Hd §C MHTARGd H5t [Ni(CO),] % Hohv T
TFh I ALV 1 TTRA 1T | (TCHTY AT : Ni = 28)
(b) [Pt(NH,), CI(NO,)] %1 ITUPAC 7 faifla |
(©)  [Co(NH,)4]3* o1 g & ¥t [Co(en) ] #i 3fersh wmfi 8 ? 1x3=3
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(b) Write the main product in the following reactions :

@) 2CH,COCI + (CH,),Cd -

Ny Zn (Hg) /Conc HC/
(i) CH;CH, CHO >
(iif) Q COONa + NaOH-229, 1x3=3

8. (a) Differentiate between the following :
(1) Adsorption and Absorption
(i1) Lyophobic Sol and Lyophilic Sol
(111) Multimolecular Colloid and Macromolecular colloid. 1x3=3
OR
(b) () Define the following terms :
(1) Zeta Potential
(i1) Coagulation

(II) Why a negatively charged sol is obtained when AgNO, solution
is added to KI solution ? 3

9. Define transition metals. Why Zn, Cd and Hg are not called transition
metals ? How is the variability in oxidation states of transition metals
different from that of p-block elements ? 3

10. (a) Using valence bond theory, predict the hybridization and magnetic
character of the complex : [Ni(CO),] (Atomic number : Ni = 28)

(b) Write IUPAC name of [Pt(NH,), CI(NO,)].

(¢)  Why [Co(en).]3" is a more stable complex than [Co(NH.).]3" ? 1x3=3
3 36

7 %%% P.T.O.



11. (%) Trfafed &a # g A Go 3R log Kc Tihfera iR :
Ni(s) + 2 Ag*(aq) > Ni**(aq) + 2Ag(s)
fear 2 . E° et = 1.05V, IF = 96,500 Cmol L.
e
(@) 298K W fr=Afeifad ot & feTt e.m.f. aftenfera Hifse :
Fe(s) | Fe2* (0.001 M) | | H* (0.01M) | Hy(g) (1 bar) | Pt(s)
fe g : Bo¥et = +0.44V

[log 2=10.3010 log 3=0.4771 log 10 =1]

Q-1
12. = fqu T srg=ae i dfeu 3 feu mu st & I fafaw
SATHTSRAT T, $TS WA H HATHRTEHT hl WG e T ICATG1 1 HiGdl g1 o Heiferd
BT 2 | 39 fereft &ror fereiw o areeafren 3 < w9 H o7 foreft e W stawe § 3iea 9
T Tehid foran S wehan & | ARITRaT 37 W 31 Hh, S dT9, 3TTTeheh] <h! Higdl qei
I T STAd & | 3TTfora 3 o iTcha Frrewor a1 form g o St 2

& = k[A]* [B]Y

x TS y 3R H & 6 tfufsean &1 9, A ©@ B % Higdr uRadd & S8 gwiied g g |
x + y T AT STITHAT T et hife T a2 |
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11. (a) Calculate A G° and log Kc for the following cell :

Ni(s) + 2 Ag*(aq) »> NiZ*(aq) + 2Ag(s)
Given that E°cell = 1.05V, IF = 96,500 Cmol L. 3
OR
(b) Calculate the e.m.f. of the following cell at 298K :

Fe(s) | Fe2* (0.001 M) | | H* (0.01M) | Hy(g) (1 bar) | Pt(s)

Given that E°cell =+0.44 V

[log 2=0.3010 log 3=0.4771 log 10=1] 3

SECTION - C
12. Read the following passage and answer the questions that follow :

The rate of reaction is concerned with decrease in concentration of
reactants or increase in the concentration of products per unit time. It can
be expressed as instantaneous rate at a particular instant of time and
average rate over a large interval of time. A number of factors such as
temperature, concentration of reactants, catalyst affect the rate of
reaction. Mathematical representation of rate of a reaction is given by

rate law :
Rate = k[A]* [B]Y

x and y indicate how sensitive the rate is to the change in concentration of

A and B. Sum of x + y gives the overall order of a reaction.

9 %%% P.T.O.



o s e 7 e fv e w7 e s 2wtz
arfurforan wed 8 | foreht wmerfirs srffsran Y snfoaesar wa wife v o 2t 2 | 3
Wife i rfframd sriemeha sram= &, fehg faem uftferfoa o =g afed gt € | sreemht
firehi =k @eft STepfae Td Him Wearalna e gem ife A somfehl grrad & |
(a) Torelt Stfiyfonan < a1 TeoRTes WX a9 &1 T 99T BT & 2
(b) fereht srfurferan A + B — 3IcdTg, o forw am frem 2 —

3 = k[A]? [B]V2

srfirfsran At Sife R 2
(c) wifea rfferanat & forw ife 3t smfvenar fva TR i 8 2

(d) T 9UH whife s rfufran @1 o w2 x 103 ¢ 1 2 | 3@ wfufen ©
JANTHTH o 6g T TR 2g B T Teha T T8 o107 2

YAt

14 & Weamfera e i a1wlg 6930 o B | il ¥ I TH Ui
STPHTIRT (IfF) T 14C Y Am Sfifead ga1 1 3081 Haet 75% § | TG A 3T
ST ShITST |

[log 4=0.6021 log 3=0.4771 log2=0.3010 log10=1]

1+1+1+2
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When a sequence of elementary reactions gives us the products, the
reactions are called complex reactions. Molecularity and order of an
elementary reaction are same. Zero order reactions are relatively
uncommon but they occur under special conditions. All natural and
artificial radioactive decay of unstable nuclei take place by first order
kinetics.
(a) What is the effect of temperature on the rate constant of a reaction ?
(b) For a reaction A + B — Product, the rate law is given by, Rate =
k[A]? [B]¥2. What is the order of the reaction ?
(¢) How order and molecularity are different for complex reactions ?
(d) A first order reaction has a rate constant 2 x 10™3s~1. How long will
6g of this reactant take to reduce to 2g ?
OR
The half life for radioactive decay of 14C is 6930 years. An
archaeological artifact containing wood had only 75% of the 14C
found in a living tree. Find the age of the sample.

[log 4=0.6021 log3=0.4771 log2=0.3010 log 10=1]
1+1+1+2






Strictly Confidential: (For Internal and Restricted use only)

Senior Secondary School Term-II Examination, 2022

Marking Scheme: CHEMISTRY (Subject Code: 043)
[ Paper Code: 56/3/3]

General Instructions: -

1.

8.

9.

10.

11

12.

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problems which may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you must
read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of
the examinations conducted, Evaluation done and several other aspects. Its’
leakage to public in any manner could lead to derailment of the examination system
and affect the life and future of millions of candidates. Sharing this
policy/document to anyone, publishing in any magazine and printing in News
Paper/Website etc may invite action under IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise and marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking
scheme but correct competency is enumerated by the candidate, marks should be
awarded.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. The remaining answer books meant for
evaluation shall be given only after ensuring that there is no significant variation in the
marking of individual evaluators.

Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer ‘X” be marked.
Evaluators will not put right kind of mark while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the
left-hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out.

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

A full scale of marks 0-35 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

. Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours

every day and evaluate 30 answer books per day in main subjects and 35 answer books
per day in other subjects (Details are given in Spot Guidelines). This is in view of the
reduced syllabus and number of questions in question paper.

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.
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13.

14.

15.

16.

17.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on a reply.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0) Marks.

Any unassessed portion, non-carrying over of marks to the title page, or totalling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

The Examiners should acquaint themselves with the guidelines given in the Guidelines for
spot Evaluation before starting the actual evaluation.

Every Examiner shall also ensure that all the answers are evaluated, marks carried over
to the title page, correctly totalled and written in figures and words.

The Board permits candidates to obtain photocopy of the Answer Book on request in an

RTI application and also separately as a part of the re-evaluation process on payment of
the processing charges.
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MARKING SCHEME
Senior Secondary School Examination TERM-II, 2022

CHEMISTRY (Subject Code—043)
[ Paper Code: 56/3/3]

EXPECTED ANSWER/VALUE POINTS

Marks

SECTION—A

(A) CH;CH,CONH,
(B) CH;CH,NH,
(C) CH3CH,NC

i
(D) CH;, CHZNH—ﬁO
6]

Vox4=2

/ 3-Hydroxy-3-phenylpropanal
i) @—CH=N—OH

(i) @cao—

/ Benzaldehyde oxime

/ Benzoate ion

(Any two)

1x2=2

Ay =Ekx1mm 0! em? mol™!

_ 78x107
0001
=78 O l'em? mol™!

Am

@

Am
78

= — =D-
390

x1000 07! em? mol™!

or 78 S cm? mol!

o=

%)

Va

%)

%)

SECTION—B

(i) Because of strong intermetallic bonding / strong interatomic interactions
forces.

(ii) Because of the presence of unpaired electrons in d-orbital / due to d-d
transition.

(iii) Because of much larger third ionization enthalpy of Mn / stable half-
filled 3d° configuration in Mn?*.

1x3
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(a)(i) F—CH,COOH 1
(ii) CH;CHO < CH3CH,0OH < CH;COOH 1
(iii) On warming with Tollens’ reagent, benzaldehyde forms silver mirror
whereas acetophenone does not. (Or any other suitable test) 1
OR
(b) (i) Acetaldehyde 1
(ii) Aqueous copper sulphate solution and alkaline solution of sodium- 1
potassium tartarate (Rochelle’s salt).
(iti) CH3CH = NNHCONH, 1
(i) Because it gives a mixture of amines which is difficult to separate
(i1) Aniline is a Lewis base and it reacts with AlCly to form a salt / N of
aniline acquires positive charge with AlCl; and hence is a deactivating group.
(iii) Because of protonation of aniline / formation of anilinium ion which
deactivates the ring 1x3
(a) CH,
(i) CH,—C—CHj / 2-Methylpropan-2-ol
OH
(ii) CHl\ focij / Diethoxy ethane / Acetal of ethanal
C
H/ \“DCEHj
HZOO™ + CHL;OH
(iii) 3 / Methanoate and Methanol 1x3
OR
® CHy—C—CH.
(i) 3_||_ 3 / Propanone
&
.. CH3CH; CHs
(i1) / Propane
(iii) / Cyclohexane 1x3
(a) (i) 1
Adsorption Absorption
The accumulation of molecular The substance is uniformly
species at the surface rather than | distributed throughout the bulk of
in the bulk of a solid or liquid. the solid.
(ii)
Lyophobic sol Lyophilic sol
Solvent repelling Solvent loving 1
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(1ii)
Multimolecular colloid Macromolecular colloid
On dissolution, a large number of When a C? 11011d 13 forr?[e(glby
atoms or smaller molecules of a | 'lacromnoiecties in suitable
solvents having size in the
substance aggregate together to lloidal
form species having size in the cotioldal range. 1
colloidal range.
(or any other suitable difference)
8. OR
(b) (I) (i) The potential difference between the fixed layer and the diffused
layer of opposite charges is called zeta potential. !
(ii) The settling of colloidal particles / conversion of colloidal sol into
precipitate. 1
(IT) Because of preferential adsorption of I ions on Agl colloid 1
9 * Metals which have incomplete d-orbital in ground state or in its oxidation 1
state.
*Because of completely filled d-orbitals in ground state or in its oxidation state. 1
*Oxidation states differ by +1 unit in transition metals whereas by +2 units in
p-block elements / heavier elements are stable in higher oxidation state in
transition elements whereas heavier elements are stable in lower oxidation
states in p-block elements. 1
10. (a) sp3 , diamagnetic 2tV
(b) diamminechloridonitrito-N-platinum (II) 1
(c) Because of chelate effect / due to cyclic structure. 1
1. |@
AG" =—nFE 4 Ya
= —2x96500%1-05 Jmol ™!
——202,650Tmol™ ! Or —20265kJ mol ™ 1
(Deduct ¥2 marks if no or incorrect unit)
- By
lo =—==
55T 5059 Z
2x105
= 1
0059 &
=356 Ly
11. OR
- 0059,  [Fe’* 1
(b) Eeopl = Eqeng — > log IéHe—n—]l]
0-059, [0-001]
Eog) =044V — 1
cell 5 o8 (0012 1
Eog —044v — 22320010
Epoyp =044V —00295 V =04105V 1
(Deduct 2 marks if no or incorrect unit)
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12.

(a)
(b)
(c)

(d)

The rate constant increases.

2+l=§

2 2

Order is applicable for complex reaction whereas molecularity has no
meaning for complex reaction.

(2303, [Rly

I
1R

2x1073
f=54938s

(Deduct ¥2 mark for incorrect unit or no unit)

Ya

Va

12.

OR
_2303, Bl
t [R]
. _ 0693
Tk
0693
k== y
6930

kK

car 1 =107* }raar_l

= %]og 100
1074 75
2303
1074

t=287875 vyears

[0-6021—0-4771]

%

%)

%)

Va

% k %k
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